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1990, the number of jobs having nothing to do with computers in the
United States will be reduced to [A] 79 million [B] 100 million [C]
30 million [D] 70 million 2. The underlined part "print-illiterate” in
the text refers to [A] one who has never learnt printing [B] one who
has never learnt to read [C] one who is not a computer literate [D]
one who is not able to use a typewriter 3. What is the first paragraph
mainly about? [A] Recent predictions of computer-related jobs. [B]
The wide of computers in schools. [C] The urgency of computers
education. [D] Public interest in computers. 4. According to the
author, the effective way to spread the use of computers is to teach
[A] how to use computers [B] what computers use [C] where
computers can be used [D] how computers work 5. From the text,
we can infer that [A] computers will be easy to operate [B]
automobile will be move comfortable [C] illiteracy rate will be down
[D] computers will be set in automobiles [ I [ OO [J #0000ff>2011
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